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10. AJKL is translated so that the image of 13. ._““:%ﬁ. n.wMHﬂM“._M Mﬂmﬁﬂ_mmﬂwﬂam MNMMNMQ
| 6. The point (90, 0) is rotated 150° about Veriex x..ﬂm Iy 0. o mo:._namz_o: the| mma_um:mm to a planned boat dock on
thaverlain. Wh : of reflections across the lines of which e : |
) e n. at are the co es of __1 quations ¢ -eates the same image? theiriver. On a grid, cabin A would be at @
transformation its imag )ﬂ/\{w R (4, _my cabin B would be at (-2, 4), and o
R F (90, H (~4543, 45) O@ = F first y = -5, then y = -9 the river would be located along the
, j ' o . o G firsty= -5, theny = -1 to .x..m.fm, gﬂ..mlmu.ocﬁ.._cmiﬂpngm s
| (90, 45) 45, 45\/3) H first y = -9, then y =1 located to make the combined length m/
| _ 7 ﬁﬂos mﬂ_.__nuiw .ﬂ. fay ﬂ._ﬂmm oﬂ,.._ firs 5 Bewt et thoRy = -0 ﬂ of the trails as w:o; as possible? < e
° rotation about t . _” | ™
ray? i bl ol 11. The composition of two reflections — R 4 \ﬂmu — —
, across two intersecting lines is N
_ . 18. The point R(2, —3) is transiated along
U C . ;
gleme—TY 5 D /4»/ m%cm_ma to which isometry? 5 vector that is parallel to the line
A preimagé C rotation rotation C translation y = 2x + 1. The translation vector has
@mamozu: D translation Use the figurs for Exkrcisss 8 and’s B glide rotation D reflection a magnitude of 24/5 . What are the
| ses 8 an rdi .
. coordinates of a possible image of
. t K(5, 5), : e SR : ir
L g A0, | Thecurtiws [ T A R s
(9, a_:smz.o: ‘the image of the figure of the vertices MO N PY BRSO and C(1, 0). After a transformation, the e 3 4 F e o
trans i a_ K(-5, -5), L'(-3, -5) | are integers. T ¥ e v image of the triangle has vertices at — ; P T g
- by 1), and N A..w ....m.v Esmm_,_ best R E2 A'(-2, -3), B'(2,-5), and C'(1, -8). | 17. Given the function y = x, write a function
M(-1,-1), an - | | \dentify the transformation. that reflects the graph across the x-axis.
S ihes the transformation? , bl g b |
owu describes tne g . f NS\ O , | | i
e rotation : ‘ _, a :
A F preimag e ,v o S 4 & CM v | , .
M : )m..ﬂ.
i .- - 4

mrt. . a/_,\ @E_ﬂ_moﬁ_o: J :.msm_m.:u:

& 3 What is the image of (-8, ~1)whenitis
reflected across the line y = x?

@Z. -8) c (1, 8)

13. Identify the image of the point A(-8, -9)

when A is reflected across the line y =X. 18. Use mapping notation to represent a 90°

clockwise rotation about the origin of the

8 AJKL is rotated 90° about the origin e ﬁm -1 u
’ poit (x, ). Mret 9 (x,4) = (x

and then translated along the vector
(-8, 5). What are the coordinates of : A
the final image of point L under this Ao. h ] : &5, v

is a reflection image of itself across a

C AL .l-l...l.‘l.i-._‘..:.l.l r

B !MJ - D | -1 ..um. composition of transformations? a%.& /\. 14. AABC has vertices A(—4, -2), B(-1, 4), I
~7, 10) H (-9, 10) c A...w ) 5 and C(0, -1). Draw AABC and its image “ ﬂ Yo v = m o v«V
: . : S e AA'B'C for translation along the vector _ / J & }
4. Which of the following capital letters G (-7.0) J (-8,0) -7, G 2, -1). \
2 B, ~

horizontal line? 9. AJKL is translated along the vector _ @ : XA “ |
e M @0 (1, -3) after it is reflected across the “ : i | _.

x-axis. What are the coordinates of J m ) w
GN J P the final image of point J under this L ﬁo | 2 : : ﬂ

L
LT
-

composition of transformations?
A (8,-1) 1, -6)
B (-8, 1) D (-1, 6)

5. The vertices of APQR are P(10, -6),
Q(6, 2), and R(4, —1). The triangle is
translated along a vector. Which vector
places the image of the triangle entirely

in Quadrant 11? \0, -0
-\

A (-8, 10) (11, B) =
B (<10, 7) -12, 8)
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Combined ._._.msm*ogm:o:m_m:a Symmetry Combined Transformations man Symmetry
Study Guide | _
Select the best answer. 7. AXYZ is reflected across the y-axis. . . Which type of polygon nmmw_imfm be
1. How many lines of symmetry does a Then its image is rotated 90° about mmﬁmmm:mﬁm a plape
regular hexagon have? the origin. What are the coordinates F heptagQn
A 3 0 8 of the final Iimage of point X under the G octa
2 | .._composition of transformations? T R O e P S m\eu ol . N
e o, B4 D-8 i ik 2 H péntagon
2. What is the order and angle of rotational T o e ,w | x trapezoid
symmetry of a regular octagon? / N : | |
(F)8: 45° H 4 90° .._ : | 11. The point (2, -3) is reflected across 14~Describe the line of symmetry for the
v _ 9 8 30 the line y = 1 and then rotated 90° functiony= (x — 4)2.
G 16; 45° J 8; 80° , € o W about the origin. Determine the final |
‘_ : : 38 1 Y A coordinates of the image after the
A O CS . . B @3, 2) N+ AL 15. Draw a figure with rotational symmetry
& 0121 : . butinot line symmetry.
ik ,.(D T " ﬁ > w 12. A figure above the line y=-11s | d 4 e
4. Which shape CANNOT be used to make P

reflected across the line y =-1 and

a reqular tesssllation? 8. Which are equivalent to a composition of then reflected across the line y = -5. Sert
E fan two reflections? Determine the slope and magnitude of 16. Write True or False. A cross section of
G h : b . reflection ll. rotation the equivalent translation vector. /m/ﬂmz cylinder may tessellate a plane.
rnombus S | 1 o . ing.
lll. translation V. glide reflection AN + AL mxum,_w_ b iomadai
b F land Il |
an |
,\L\«maﬁﬁw pentagon Bh anciil 13. Suppose the triangle shown is reflected
f ) across line n and then across line m.
H land IV Describe a single transformation that is
J 1, 1I, and llI equivalent to this composition of &
9. Which are the angle of rotation and the transformations. _
order of rotational symmetry for the e o R A
figure? | | S
| o S
| 26mm | gon that can be

ar hexagon to create
8. Using only glide reflections, which.ef the

| ion of the plane.
fo e? A 90° 2 “ of each type of
BV180°: 2 gon that must me®t at each vertex.
C 90°; 4
D 180°; 4
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